PHANTOM Prop Guard Assembly Instruction v1.02
PHANTOM siminzszessisgg vio

Please carry out the following procedures to attach the Prop Guard to the aircraft.

BIRR T ES BRI,

1. Prepare the aircraft, Prop Guard (4 pcs), M3.0x12 Screws (8 pcs), a thread and an allen driver.
R PHANTOM TK1T85. JIRIFER(4 ). M3.0x12 42228 F). fRIFLL. M7 FARIRLT],

2. Use the screw driver to remover the screws on the four motors (M3.0x8) of PHANTOM marked in blue in Fig.1.
{EFRIRL2 TIEN TR PHANTOM PO/NEEATL ERJERZZ(M3.0x8), (ANE] 1 IEEARIC)

3. Fix the Screws of M3.0x12 with appropriate strength ( Fig.1 ) to mount the four Prop Guards on the PHANTOM .
Note that thread lock is not allowed.
ZREN Frn |, EEADITRIREM3.0x12) , FEFIIA PHANTOM ARIPES. ARILAERIRLER.

4. For better protection, please attach a thread through the Prop Guard, note that the thread should be under the
Prop Guards ( Fig.2 ) . Finish.
NTEIEFRIRIFER , TRRE 2 iR BRIPEIEEIERRIFS L | (XA SR RIP R RER.

LT,

IMPORTANT: Here, M3.0x12 Screw is for
Prop Guard assembly. Without Prop Guard, you
should use M3.0x8 Screw; otherwise, wrong
type of screw will damage the motor.

AR Ry 153
== £°3 g% FRESH
M3.0x12 R9¥B4L ; AISRIRBZEERIFEE , R
BEfEFATELS D M3.0x8 1822, BN , I HATIREL
SIRIREEA L,

Specifications/ S#4

Weight ( Single ) /E2& (B84 ):18.7g
Size(Single)/BAMRT : Angle/FE(155.0)

Radius/24&(112.32mm)
Whole Size with Four Prop Guards /&HRRXA
YMER : 575.5mm

Fig.2 Installation is OK/[E] 2 IFMAZREEREE

©2013 DJI Innovations. All Rights Reserved.



